R

PEigr 222 4

FAR114 £ 90 3p Ly 3 ¥ 1141876337D 52 2 i3 1
0.4(%) (Wiw) #]% 3+ 4% (GR)
5 o\ o e — 3
e R P D I I
v o eH | A et f<df | AR FIE | KP
2 (=) (=)
kA | ivaE (25 25 e A 1 X
& = 54 %*5%‘0 NG R
i CIESERE e
IFw o
i A 1
B
J‘l"f_ 2]/}‘ g3
I Aok e
18.4(%) (Wiw) #]% % -k F& & (SC)
A L e - 3
- ,E il PO I e | s
L4 ;‘: @ I FHP | RTE I #p AR ] 5
L (=) (=)
kfe |2 iR £ 211,000 |3 A LT w fa e
& Ty 24 ] F oo
B o
kfe BT iR 5 1.i¢ * ok
fiors B A
(& re
J2) 0 2.3
T B
Zoo ki

1154




i
%
=y

SF %25

}?ﬁ ' T e mmlmr D0 T8 | e | ans
L4 RS SN i S

&
H
&
\“'&t

b
i
3

(g
e

AR R
1207 @y
{6 2 fofd o
AR FE s
- B SER Y
TS %
7 fi 10-15
ko (6
A G
WA

feifag 10.1-0.3 |2,500 A% 27 14

o R A

fepisg 10.2-0.3 (2,500 A3 2|7 21
o2l BB e

fepkzg 10.2-0.3 (2,500 A 2|7 21
o R4

e fepksg 10.2-0.3 (2,500 A 2|7 21
o2 R 4%

<~ B e 10.2-0.3 (2,500 A7 21 F* TR
o F"é‘&év"g B o
wE sz 10.2-0.3 (2,500 A7 21 F*TED
o B 4o 2 o
RISEF (0.2-03 2500 | AE 4|7 21 | iz
o B 4o 2 o
RISEF (0.2-03 2500 | AE 4|7 21 | iz
o B 4o 2 o
itzg 10.2-0.5 (2,500 21

R DA A IR AR R A DA R DA s I R R O T A A I

B Ee
g\é"l
|
\‘

i~
A=
&

o




i

S
ik
#d)
pal
m& nﬂﬂw—ﬁ )
Mo
w7 N N N N
— — — — [*))] [*)] [*)] (o)) (o)) (o)) D D
e
,‘,.w 4
B
,‘,.mu ﬁ\ o o
o
o O
N~ N~ N~ N~ N~ N~ N~ N~ N~ N~ N~ N~
£ SHR SR + R + R T W T W T W T W T W T W + R + W
g3 FCERC S R S g % | | F | S w5 w0 R | 3
& o |+F BE o |eF Bt o |eF B o | B o |eF B o [eF Bt o (s Bt o |3 Bt o |sF B o |3 Bt o |oF Bt o |sF B o
#® el ae M e R e T M e B MR e BT W ee MR ee B e MR e MR e L e B MR |t L
o o o o o o o o o o o o o
N . o o o o o o o o o o o o
e Sl S S 0 0 re) T} S S D D o] o]
™ ™ N N N N o o N AN N N
s 10 10 < < © ™ 10 10 < < © ©
A R o o o o o o o o o o o o
% T B A 5 A R M P N S N B T S B N S R N S R B S O I A RN A
(@) N o N o N () N o N o N o N o N o N o N o N o N
| |E 4 tge tge it iy t 4 it tge tg bt
RN 4 fik 4 4 4 4 % i % % 4 4
2 = i i 2 12 12 = 12 i 12 t
1ok [ R e b R N L O e I - S R N R
S o B4 e B #% ,kw N S I K e S T [ N S S e S
Bt 43 Bk EC kW A d A Woo B w 4 A3 kk|H do e e = R 1% 1%




) F O ¥ » L | FE
i N iy o | R IE wE wE o) | AR EFR
Y e =+ =X . I £ L oo £ PR ]
i g | °F 7P | =®
AL 47 [0.3-0.8 2,500 |T AE 2|7 9
EF& o ]
g;gz_? o
& 47 [0.4-0.6 2,500 |T AE 2|7 B4 9
D P s 2 =%
g;gz_? o
HE# 47 {0.3-0.8 [2,500 |T AE 2|7 9
) EE o PF R 45
T % 10.1-1.2 [2,500 |2 A4 |7 9
a- PF R s
g;ég o
E3 % 10.1-1.2 2500 [T AF 2|7 9
o PR 405
g;ég o
% 10.1-0.3 [2,500 | A% 2|7 9
o FEE B o5
g,g o
% 10.1-0.3 [2,500 | A% 2|7 9
o FEE B o5
o
% 10.1-0.3 [2,500 | A% 2|7 21
o FEE B o5
o
g % 10.1-0.3 [2,500 | A% 2|7 21
o FEE B 405
%g o
s o 47 (0.1-0.3 2,500 |T AE 2|7 9
) O PR b
o
¥ %8 10.1-0.4 [2,500 |T A 4|7 6
o PR 4
o
# % |0.1-0.4 2,500 |2 A4 |7 9
ol PR 4o
o
% 0.1-04 (2,500 | AF4 |7 9




£ g ¥ S I I o -
’fﬁ* EEY ’ffﬁ e Y| IR ’:M% ?ﬂf (SN IREA A
g | FE SIS
o P 4
o
irdE 10.1-04 [2,500 (T AEZ (7 9
o PR 40
o
RifdE 10.1-04 [2,500 (T AEZ (7 9
o P s
.
RfsE 10.1-0.6 2,500 (T AE 2 (7 14
o2l P 4o
.
AR 10.2-0.3 2,500 (F AE 2 (7 14
o2l P 4o
.
AT 10.4-0.6 2500 (T AE 2 (7 14
o P s
o
EIE4F (04-06 (2500 (T AFA|7 14
o R 40
o
if4E 10.1-05 (3,000 |F AEZ(7 14
o PR s
o
AT 10.1-04 2500 (T AE 2|7 14
o PR s
o
447 (0.1-04 (2,500 | AE A |7 14
o PR 40
o
RIAKT (0.2-06 (2,500 | A 4|7 14
o PR 4o
o
45 0.2-0.6 2,500 |F AH AT 14
o PR 4035
o
fisdg 10.3-0.8 (2,500 | AE 2|7 14
o P B 4




T4 3/{55& T ﬁ‘ﬁ % Yo dE | g i
Y U | FEr | L (R FR | L. | ¥ AREAR
L e | FE 8 7 @
Z o
PR § | RRdE 0112 (2500 | AFA|7 14 S Ak
o PR 4s 1 e
Z o
¥4 | RA4E 0.1-03 2,500 |FAFA|T 14
k) o P R 4o
Z o
3 RIsEE 04-05 (2500 [T AHF A7 14
A PR 4%
g;é,g o
&4 |RS4E (03-08 2500 |FAFA|T 14 S
o P % g
g;é,g o
= RsEE 10.3-05 (2,500 | AF A7 14
o PR 4
= o
=3 T aRdF 0.3-0.5 2,500 |2 AE AT 14
o P B
o
EH  |R#A4E |0.3-08 (2,500 [T AFA|T 14
o P B %
o
ioft & |ReA4E (0.2-0.6 (2,500 (% A 4|7 6
e ol P B e
o
icft % |3 85F |0.2-06 2500 |E A7 6
£ ] o PF R 435
o
&4 R 0308 2500 |FAFA|T 6 IR ¥ 5
ol PR e = o
o
A F | R 0.2-05 (2500 | AF 4|7 6
A PR %
o
FesF  |Rifdg 0.2-0.8 (2,500 |3 AF A |7 6
- PR %
o




ST i TR ew wg |FEF
Foaw | (REPES\ER| | L | kY| ALER
g | *F 577 | e
47 10.3-0.8 2,500 |% A4 (7 3
o PR 4
z/jz,z_? o
L4 10.2-0.3 2,500 |% AF A7 6 oL
o P 4 g o
z/jz,z_? o
47 10.2-0.3 2,500 |% AF A7 6 IR
a4l B B 4 B
g;é,g o
A {0.2-0.3 (2,500 |% A 4|7 6 ICIRRY 2
o B B 4% B
g;é,g o
o B A {0.2-0.3 (2,500 |% A 4|7 6 ICIRRY 2
a4l N B o
g;é,g o
¥ % 10.2-0.3 (2,500 |3 AF 2|7 6 LSRR 4
o = 2 o
z;;}_? °
® 2 % 10.2-0.3 (2,500 |3 A 2|7 6 TSRS o4
o = 2 o
z;;}_? °
WE % 10.2-0.3 (2,500 |3 A2 |7 6 TSRS o4
o = 2 o
z;;}_? °
e % 10.2-0.3 (2,500 |3 AF 2|7 6 LTSRS o4
o = 2 o
:‘555 o
E “#f 10.2-0.3 (2,500 |F AF A |7 6 T LIRS o2
o PER 4 B o
o
E “#F 10.2-0.3 (2,500 |F AF A |7 6 T LIRS o2
o PEE 4 B o
o
A {0.2-0.3 (2,500 |F A 2|7 6 EIRRY
o PR 4% & o
o
¥¢ 10.2-0.3 [2,500 |% A2 |7 6 i




| e || 8 SE ew| wg T2
P P S L L PP R el R M
£ (%) (%)
o P 4 g o
;_Aé? o
A% 4 |ReA4E (0.3-0.8 (2,500 [ AE 2|7 3
o PR 4
;_Aé? o
¥E  |RiAsH (0.3-0.8 (2,500 [T AEZA(7 7
o PR 4
g;gg o
W |ResAE (01-12 2500 (%A 2|7 21
2ol g
g;gg o
4 % |4 (0.1-0.3 2,500 (T A AT 21
A PR 4%
g;gg o
¥5  |isdg |04-05 (2,500 | AE |7 21
o PR A
o
3 F ~ [# {7 #0.2-0.25 3,000 | A2 |10-14 & % 14 I AT
I~ A o~ P s 2 =% e R
i - 4 3
&L R e
e
el 3
E !
A
%ﬁkwﬁiﬁ\¢$‘$$‘§ﬁ&ﬂﬁﬁﬁi%%ﬁg§@o
35(%) (Wiw) #] % 3+ -k A fidged (WG)
5 N\ /. PEp s 0
I N I S ew| wn *‘,T R
I e I L g P I sl R B
£ (%) (%)
kA | YiE (025 2 (2,000  [dFE A e T g e
') lE T 24 /| 24 /) T+ o
w8 B o R
A
Biris
EED




o ] ; wE || |[FrE
A Gl EET I LTI b B T R
H | FH | g | FF ' 7 o
L 39
o =
T u
itk
£ 500
%—ﬂ °
kfe |BTEE |0.25 2 (2,000 |3 A Fo Ao RNy w4 ¢
W 24 ) 24 -] * o
RS P o pE o
A i
Bins
ey 4
ITw
o =
Tu
e
£ 500
%‘,ﬂ °
4 A% |fifE 0.1-0.2 5,000 |2 A 4|7 14
A PR s
gg o
A | (0.1-0.2 (5,000 | A 4|7 21
A PR s
.
%E  |RIAHE(0.1-0.2 (5,000 [T AEA |7 21
A P b
o
=& |RAEE (0.1-0.2 [5,000 [T AF 4|7 21
N7 PR 4o
:‘55_2 o
4B |fifdE 0.1-0.2 5,000 [T AEFA|T 21 LI T
A PF R 4 E o
:‘55_2 o
e |R#f4F 0.1-0.2 5,000 (T AFA|T 21 LI T
X P B o % o
ggg o
BE |8 (0.1-0.2 5,000 | A 4|7 21 SR T




e

fm<
(=4 y,n%
157 G
‘zuw . &
g 182 am.mw
o
o
3% = o~ N S
WIS - — N — i
o T N N
W
W
o
£ r~ ™~ = [
N3
a0 ™~ = = s | W@ » wl R N L
5 gz u r~ ~ | I9 | W * ¥ o oL <L e 2k R
w ~ in N | "L e <L g b e X R
Poled |ud |EE B xd xd o |ud I ARE
N * L . R N - = ® i3 " :
= * " D g sk IS - JONE % B 3 = % | e e
el ~ =% N o ° o e R . ] E| e .%r
.“%P - A = .&M & o .&M i3 = . N ._mmr s ._mmr P ._mmr
o ° ¥ [ g O w | e .M..Wr Wm&ﬂ ' ._%r byl
. s s - SE . A o S
i Sy o P 3 8 <
o 3 S 8 o 15} Lo
o S S S < o T9)
i S S S o Ce) N N
K o - S 25 | .
- N \
ﬂw e e © [V N O n_U =
N « S 3 = i 2 a5 4
N N o - Q@ n1_u_ — ! o T|lc X SEA
i S @ eI o pup o =} S \ T
(e ﬂﬂ; \ ! — . - o\ N [ . tmc A&
A W = 1 ;A o o ™ - e HE 4
g 2 o = e o s ¥ 4 %
N .«mnr LBn ..Ik \uw o) P =~
o & 4 3 i N . i - e R
5 - 14 b ~ 3 \ N
A% b Awh = MRM‘ ﬂﬁl M,l . Mﬂ&f ﬂ,ﬂt ..T‘.T ﬂﬂt .v.im
14 \ k& K
EEE S b \ a2, , i A bk s B b=
fms Mﬂr 2y = .IA He—
= S 5 ! 1 i
/vdfa a.ﬁ = .M, Iﬂ wﬁk Rt E w
|”l W< = .Iﬂ e iﬁ
Bl il




*

oD
5%
sy

B
S

Al

(g

ki

2

RS

& % pEip

ok
N

e

N

T >
I Hp

(=)

o

o

b

e

o

*

5,000

B Ee
Y
&=

o

o

Tt
~h
Tk

HE
o]

5,000

B Ee
Y
&=

o

e

N

e
£

HE
o]

5,000

g
M
TN

b

H

Tk

5]

5,000

o

5
S

5,000

B Ee
5‘}‘%’)‘
SEpS

-
kh
N
)

o

i

oy

5,000

B Ee
£
s

i~
1=
&

5,000

B Ee
£

e
R
&

o

5,000

B Ee
£

i~
I~
&

o

5,000

B Ee
£
S

-~
4
&

21

T
a

5,000

21

)

ot
Tk
5

HH

5,000

=t
-

5,000

B OR Ol OR R R Rl Ol OR TR R R O R OR Rl OR R OR Rl TR R W




oD
5%

Ay
oy

B
~\
“

Al

(g

2

ki
s ¥

& % pEip

%{;gg

B

(=)

ok
N

e

N

T >
I Hp

(=)

5,000

B Ee
A
&=

o

5,000

Em
9&“;1
|

5,000

5,000

e

NN

4 i
s G

—A
HE

o
5]

5,000

14

(24
—=

A

LA
JIEENTY

~5]

>

5,000

F-
B e

aN
3o
&

o

14

5,000

B Ee
£

e
R
&

o

14

5,000

B Ee
£
s

i~
1=
&

o

14

5,000

B Ee
£
s

i~
1=
&

o

14

5,000

B Ee
£

e
4=
g

14

5,000

14

5,000

14

5,000

WO O R O O R OR RO RO O R RO R RO R R el R e R R

14




& 2OE - 2 T 3 5 3
A Gl EET I LTI b B T R
| g | FE =) [F T | (=)
Ea) o =
g;gz_?o
AT |Res4E (0.2-04 (5000 [T AF 4|7 14
By &g =
g;gz_?o
# B |RddE (0.1-0.6 5,000 [T AFA|T 14 W A
25 = R 2o h
#F4T | Resdg 0.1-02 (5,000 | AFE LT 14
<y A PR 4p 5
g;é,go
¥ iRdE 0.2 2 (5,000 | AEA|7 14
T PR 45
g;é,go
&4 |24 0.2-04 5000 (T AFL|7 14 AR AL e
a0 P 4 § o
# o
= R 0.2 2 (5,000 | AEFL|7 14
T P heE
# o
= % g4 (0.2 2 5,000 [T AFAT 14
T PR 4o
# o
A |Rwdg 022 5000 |FAFAT 14
T PR heE
# o
icft % |tsE |0.1-0.3 (5,000 (T HFA (7 6
oy A 2= e
# o
icft % |& F |0.1-0.3 (5,000 (T HFA (7 6
gy A P 4o
# o
&4 |RiA4E (0.2-04 |5000 (T AEFA|T7 6 IR
A P 40 oo
o
A | ResdE (0.1-0.2 (5,000 |2 A AT 6
& P B 4




F a0 | S
U i _|wE wE | o
& =% i | RRE | . Jedp | AR EE
o % #K T#e| i
z (=) (%)
= .
5000 |% A#4|7 6
PR e
= .
5000 |% A#2|7 3
PR e
= .
5000 |2 AFAT 6 g AL
P 405 E o
o
5000 |2 AFAT 6 AR 2
P 405 E o
o
5000 |(ZA#HFAT 6 LR 2
PF R 45 B o
o
B 2 5000 | AFAT 6 LR 5
PR 4o 2 o
= o
¥E 5000 | AFAT 6 LR 5
= E o
= o
® & 5000 | AFAT 6 LTELARRS 5
P 4 E o
= o
&EE 5000 | AFA|T 6 LTELARRS 5
PR e 2 o
i
mE 5000 | AFAT 6 LIRS 2
PR e 2 o
g
E 5000 | AFAT 6 iF o
PF R 4 2 o
o
E 5000 |2 AFA|T 6 i
=R B o
o




*

oy

oD
5%

B
~\
“

Al

(g

2

ki
s ¥

& % pEip

ok
N

e

N

T >
I Hp

(=)

5,000

B Ee
A
&=

o

5,000

Em
g‘é":‘
|

5,000

it

5,000

5,000

21

l=
\“}{.r

5,000

F-
B e

aN
3o
&

o

21

g
wht

5,000

B Ee
£
s

i~
1=
&

ORI OHE R R OR R R R W R OR N R R
)
&

o

21

o]

fen i




